dydronit

www.hydronit.com
E-mail: sales@hydronit.com
Fax +39 03621841214 Table U040.30.11.00
Modular manifolds for 3/4-16 UNF cartridges
Mounting example
Two way o
% Circuit example
)
© 4 72 - ﬁ
< s | § : E
> A s o
! r E Be—
i I i
[} ! 1
1
A A :§ o ——
‘ & o =
D_ F'J' """""" j"":
o i
) i
@ |
18" BSPP_| | _ 3
‘ ‘ ! Spare part code
RES) -6 |
© "\ ; E60403030
Q P
~ 4 x M6 bolts Note: code does not
‘ —— include the MSV or MDV
\ @ @ solenoid valve.
Rt Recommended tightening
V\,/e,lght' 0.26 kg . torque for M6 bolts: 8 Nm
Fixing system: 4xM6 tie-rods
steel class 8.8 or above
Mounting example
Three way
w & Circuit example |
= 1/8"BSPP @
© ] ¥
ql_ h v
3 ' A
o 2
N Ig
i
‘ |
1/4” BSPP i
- 72 -~ i
\ P @ 7 (AU el SR Spare part code
@ T. E60403031
g
@7 ‘ 4 x M6 bolts Note: code does not
o) @ include the MSV3V
Y : . solenoid valve.
1/8” BSPP 1/8” BSPP Weight: 0,32 kg R ded tighteni
. . . ecommended tightening
- - - - Fixing system: 4xM6 tie-rods torque for M6 bolts: 8 Nm
steel class 8.8 or above
Note: 3/4-16 UNF manifolds can be stacked one upon the other but cannot be used with cetop 3 modular
manifolds since the tie rods bolt pattern is different. The three way block is not compatible with square vertical
tanks.

U040.30.11.00



